Stainless Steel Tubular Pull

UEFS ramexus

ERT

B
m

L.

R

-

MAN&MACHINE
ELEMENTS

B4 mm
YRLLPITH AR S5
R R

M6x 12
M6 x 12
M6x 12
M6x 12
M6 %12
M6 X 12
M6 %12
M8x 16
M8x 16
M8x 16
M8x 16
M8x 16
M8x 16
M8x 16

=5
S :
— -
=
BT =
I D L2
L1
L3
o HE RELE Oune  ® BRATSE BE,
UEFS ® IR L TEMMGE, M8 FRIERE,
& SUS304 o EM M F 2N R ERAANAEELIEER (SUSXMTHI) .
B2 B 6 (LX) TEERR RS (BASI.
] BIRALIRRRE A6 (EHE)
. SUM22L
S SHEBEAE
RN A EE LR
(BLHHRS) SUSXM7
233 Gigall
] A L1 D H h LfF L L L M ?N‘Tﬁﬁ FE(g)
UEFS-30-M6-200 30 |200 |18 |75 |45 |12 |265 [230 [170 M6 |500 373
UEFS-30-M6-250 30 (250 |18 |75 |45 |12 315 |280 |220 M6 |500 437
UEFS-30-M6-300 30 (300 |18 |75 |45 |12 (365 (330 |270 M6 |500 462
UEFS-30-M6-350 30 (350 |18 |75 |45 |12 415 (380 |320 M6 |500 480
UEFS-30-M6-400 30 (400 |18 |75 |45 |12 (465 |430 |370 M6 |500 650
UEFS-30-M6-500 30 |500 |18 |75 |45 |12 565 |530 (470 M6 |500 674
UEFS-30-M6-600 30 (600 |18 |75 |45 |12 (665 |630 |570 M6 |500 800
UEFS-30-200 30 (200 |18 |75 |45 |15 265 (230 |170 ‘M8 |500 364
UEFS-30-250 30 (250 |18 |75 |45 |15 315 |280 |220 ‘M8 |500 418
UEFS-30-300 30 (300 |18 |75 |45 |15 (365 (330 |270 ‘M8 |500 47
UEFS-30-350 30 (350 |18 |75 |45 |15 (415 (380 |320 M8 |500 525
UEFS-30-400 30 (400 |18 |75 |45 |15 (465 [430 |370 M8 |500 578
UEFS-30-500 30 500 |18 |75 |45 |15 565 |530 |470 M8 |500 685
UEFS-30-600 30 (600 |18 |75 |45 |15 665 (630 |570 M8 |500 792
*1: FRANNEERG.
o BISIETFE
I
\ —
A
RS
ERBLHENRS (RASH N, FEaRsnkREm P,
TV TLBEE - T E5E = Pxxxx & HHRIED = Pxxxx
AT AL M

N NBK

0512-5290-1560

info@nbk1560-chn.com.cn

https://www.nbk1560-chn.com.cn/



